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6.

. n AEA Q@ T GGYS F Fd: HN H,

0 A FAN 37
n-1
fa) n (b} 5
n-2 2[n-2)
fc) T () 3

. 41% 4 43% g v B7

{a) 80 {b) 84
{cj 86 {d) 88

C T x=7+443, A VX + B R

Vx
fa) 1 (b) 2
fe) 3 (d) 4
461,462 463 | 469 frod fawreg 27
fa) 7 (b) 9
fc) 11 d 17

. WA difse, @ werems wens % LCM 3R

HCF#9: p iR g 813k p:g=14:13
pg=1134, @ 3 = wEmal & 99 i
T R?

(a) 27
b) 35
fc) 45
(d) At et ¥ wro Rl 7@ &
Sk
(5-4)° - 0064 1 7 7 A7
(5-4)2 +2-16+ 016 '
fa 4 fb) 44
(c) 5 (d) 54
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7. F§ A FR WA 3 km/hr F 3@ 716 A
TER A FRE 40 e TEd wdee R
I 98 2 km/hr A 3hwa 99 A 97q@ R, @
40 e 3 A wfeam R 3F W 3N FEiea
& o9 A 70 70 7

fa) 6 km {(b) 8 km
fc) 10 km (d 12 km
R 1, ] .\ 1
' 5/4+4J5 6J5+5/6 7J/6+647
1 1
+8J"?+7J§+9J§+8J§
F qH 71 37
1 1
(a) 7 (b) 3
1
fc) 1 (d) c
3
9, TR x=9999, @ _ X X
2x + J(6x - 3)
87
(@ 1111 b} 2222
(c) 3333 {d 6666

10. 3R (x+V1+x2)(y+yl+y?)=1,
xGﬁIyWﬁ?ﬁﬁ'@TQ%,?h[x+mgﬂﬂqH

187
fa} 0 (b} 1
fc) 4 (d) 9
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1. What is the ratio of interior angle to
exterior angle of a regular polygon of

n sides?
b n-1
(a) n (b) 2
n-2 2(n-2)
(c) - (d) 3

2. 41% +43% is divisible by

fa) 80 (b) 84
{c) 86 {d) 88
3. If x=7+4Y3, then what is the value
of VX +%?
fa) 1 {b) 2
fc) 3 [a 4

4, 451 1452 1463 ;464 5 divisible by
fa) 7 (b} 9
fc) 11 [ 17

5. Suppose p and q are the LCM and HCF
respectively of two positive numbers.
If p:g=14:1and pq=1134, then what

is the difference between the two
numbers?

fa) 27
(b} 35
{c) 45
{d] Cannot be determined due to
insufficient data
6. What is the value of the following?

(5-4)° -0-064
(5-4)2 +2.16+0-16

(a) 4 {b) 44
{c) 5 (d) 54

GHSA-T-MTK/45A

7. A man walks at an average speed of
3 km/hr from his residence and reaches
office 40 minutes early. If he walks
at an average speed of 2 km/hr,
he reaches 40 minutes late. What is
the distance between his residence

and office?
fa) 6 km () 8 km
{c) 10 km (d) 12 km

8. What is the value of the following?

1 1 1
593 1475 6751576 TI6 1677
1 1
+aﬁ+7J§+9J§+sJ§
1 1
@ - () -
1
© 1 @

9. If x=9999, then what is the value of
the following?

4x3 - x
2x + ))(6x - 3)
fa) 1111 (b) 2222
fc) 3333 (d) 6666

10. If (x+V1+x2)y+y1+y2)=1 where

x and y are real numbers, then what
is the value of (x + §??

(@) O ) 1

e} 4 fd) 9

[P.T.0.
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11, 2sin68 2cotl5
cos22® Stan75°
_ }_jc:_aﬁr}?o" tan4(0® tan45° tan 50° tan 70°
)

F1 0F 7127
@) -1 (b) O
(c) 1 {d) 5

12. &l wrgm Byw % W @ = w g mn
E W FO: 9 R A 16 R A
T % 9 @el 3§ |fedn ¥ o B qerd
T 87
(a) 6 TS
(b) 8w
(c) 10 %W
(d) 12 T

13. MR 43* x47% =2021)2, x 20, y=»0, A

2xy-x-y
faj S fb) 15
c) 25 {d) 45

14, TR AT q, b, ¢, d 97 Il 8| R
v 17
a+ 1 60

M a, b, ¢, d F PHES F1 7
(a) 24 b) 51
(c) 68 (d) 102

15. 3R x2=1?’x+y3ﬂ‘£ y2=x+17y, X %Y,
AYx2+y? +1 TR TR

(a) 17 (b) 19
(c) 23 (d) 27

GHSA-T-MTK/45A

16. n % AR A H1 2, R 194480+ n = m*,

&l m 3 n g wend §
(@) 1 (b} 2
() 3 (d) 4
17, Hﬁﬁ=%;(x>o,y>0}, Eﬁﬁ
w1 W 87
(@) 1 (b} 2
fc) 4 (d) 8

18. R A wH 0 I 9w g6 (e
4 cm B0 9R) @ vfEg &7 = g =
¥

{a) 8—;3’5 cm
(b} [16.1”-%5]aﬁ cm

fc) (16¥3 -8n) T cm

16n
(d) i T em

19. A8 BT ¥ $N 40 km/hr 9 @
Jet &, a99 B® A @ 30 km/hr # 91t
8§ 9ot ® 3R [: AR B 9F 60 km/hr H
A W T R | HR ol = R
(a) %km/hr (b) 42 km/hr

125

{¢c/ 40 km/hr (4} 3 km/hr

20. 9410 ¥ frfefe 4 @ =R-H ago gyl
we wer W = @ ven gl o .

wm?
(@ 4 (b) 3
(@ 2 (d 1
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11, What is the value of the following?
2__511168" _ _2c0t15°

'c0522° Stan75°
_ 3tan20°f tan4{° tan45° tan S0° tan 70°F

5
fa) -1 () 0
fc) 1 (d) S

12. The perpendicular dropped from a vertex
of a right-angled triangle upon the
hypotenuse divides it into two segments
of lengths 9 units and 16 units
respectively. What is the length of the
perpendicular?

fa) 6 units
{b) 8 units
{c) 10 units
(d) 12 units

13. If 43* x47Y = 2021)%, x# 0, y+ 0, then
what is the value of the following?

dxy+x+y
2xy-x-y
fa) 5 b} 15
fc) 25 {d) 45
14, Let q b, ¢ d be positive integers. If
1w
a+ 160
b+ 1
1
c+—
d
then what is the product of @, b, ¢ d?
(@) 24 {b) Sl
fc) 68 {d) 102

15. If x2-17x+y and y? =x+17y, x#y
then what is the value of {/x2 + y2 +17?
fa) 17 (b} 19
e} 23 (d) 27

GHSA-T-MTK/45A

16. What is the least value of n if

194480+n=m4, where m and nr are
natural numbers?

fa} 1 (b) 2
fc) 3 (d 4
17. If
_x-y 1 0 us 0
Tarels X080
then what is the value of E?
Y
@ 1 b) 2
fc) 4 (d) 8

18. What is the area of the region enclosed
by three identical circles (each of radius
4 cm) touching each other?

8n
fa) 3 square cm

{b) [16\[_—8—;) square cm

fc) (163 - 8n) square cm

{d) 16n square cm

73

19. A car travels from A to B at a speed of
40 km/hr, travels back from B to A at
a speed of 30 km/hr and again goes
from A to B at a speed of 60 km/hr,
What is the average speed of the car?

(@) iaokmjhr () 42 km/hr

125

fc) 40 km/hr (d) 5 km/hr

20. What i1s the smallest natural number

from the following which must be
subtracted from 9410 to make the
remaining number a perfect square?

(a) 4 b) 3
fe) 2 (d) 1

[P.T.0.
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21, 27% + 313 fFga farsy &7
{a) 8 {b} 10
fe) 12 [d 21

22. IR WY p=22"124m 3 g=29" -m

(&t n 8 ol §E@ R) | m W A7H W
w0 & % pofi 3R g of, 5@ R A

@ -1 B 1
(c) 4 d 6

23, I FRft saens arafas gom x @ 1 wE
I FER 12 SE WA R, @ ox R s

87
fa) 2 (b} 3
fc) 4 (d 5
24 S B
4 BB BA
1
* 75020 + 42021
form T 37

fa} 2020 +1
(b} 3021 +1
{0 2020 + 2021 - 1

(dy J2021-1
25. AR x+ 12 @ % wmoumewn
x 2 7x2 - 3x+7
27
3 5
(a) = by 2
3 10
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26. uﬁa.+b=2,%+%:2,ﬁta3+b3$!m
w187
(a) 2 (bj 4
(c) 6 (d) 8

27. 8 To9 41 12 Rl foredt wm =0t 24 A A w
TR ¥ 8 goy ai 12 Rral 3 wm 6 e
& % =

@) 12%7
) 18%=
) 24 f@

(d) ¥y wet & www fuffa T B
EIRCTl

28, Bt # A ukm/hr B s AW @
350km R gh @ F A p fre @
fredt o= FRF v km/hr 6 3w @ B
I @ g I H g e R R AR
u-v=53N g- p=140, A u T 7 T
37

(@) 35 (b 30
(c) 25 (dj 20

29, x THTEl 3N x ot A forem e e §7
{a) 11520x (b) 5760x

{c) 480x {d) 192x

30.ﬁ%ﬁw3ﬁpmq[p}q}aim
me AR TR meE FE: A R 6§

Frafafas @ & #9-T & 98 37
fa) A>G (b) G>A
fc) A=G [d A%=C
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21, 27° +3!3 is divisible by
(a) 8 ) 10
(¢) 12 (d) 21

22, Let p=2""*24m and q=2""-m
(where n is even natural number). What
should be the least value of m such
that p as well as q is divisible by 5?
(@) -1 (b) 1
(c) 4 (d) 6

23. If squaring a positive real number x is
same as adding 12, then what is x

equal to?
fa) 2 i) 3
(c) 4 ' fd) S
24, What is
1 . 1 N 1
1+42 2+43 J3+4
1
tot e—————
V2020 + 42021
equal to?
fa) 2020 +1
(b} 2021 +1
fc) ~2020+42021-1
{d) ~2021-1
25. If
1 5
X+—==
x 2

then what is the value of the following?

S5x
Tx? - 3x+7
3 5
(a) = (b} 2
3 10
{c) 2 (d) 55

GHSA-T-MTK/45A

26. If

at+b=2, 1.1
a

then what is the value of a® + b3?

fa) 2 (b) 4
fe) 6 (d) 8

27. 8 men or 12 women can do a piece of
work in 24 days. In how many days

can the work be done by 8 men and
12 women?

fa) 12 days
(b) 18 days
{c) 24 days

{d) Cannot be determined due to
insufficient data

28. A car takes p minutes to travel a distance

of 350 km with an average speed of
u km/hr. Another car takes g minutes
to travel the same distance with an
average speed of v km/hr. If u-v=95
and g- p = 140, then what is the value

of u?
fa} 35 {b) 30
fe) 25 (d) 20
29. How many minutes are there in x weeks
and x days?
fa) 11520x (b) 5760x
fc) 480x (d) 192x

30. The arithmetic mean and the geometric

mean of two positive numbers p and g
(p > q) are A and G respectively. Which
one of the following is correct?

faf A>G fb) G>A

¢/ A=G (d A%=G

[P.T.0.
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31, AR o v p fiam wlww x2 +ax+B=0F
e 8, SR p2 0, Ao —pF AR TR
{a} 4 (b) 3
) -1 (d) -3

32, if gFrRR FRf 9w A €200 e

T R 10% B @A % TR f R @
78 W 20% F AN Qa1 &1 W TG R

A $iwa 591 87
(@ ¥170 (b} €160
(c) ®150 (d) ¥120

33, f&dt =f 3 Tt @ =N F 7% W
£9,000, 8% W ¥12,000 3 9% W
¥ 15,000 3uR | 3R o 781 A qufd
R £50,700 THR T n F 74 41 87

(@) 3 (b) 4
{c) S (d 6

34, Frfafan su w fam i

1. & wE el sEna F = H A
9 A g R

2. W% fam g (> 1) § TF T A
FH 8 A um 2 WA 1 firerm R

ol AT 3 B FH-E/Q ' R/
(@) ¥ 1

(b) FFH 2

fc) 132

(d) 3d1eRad2

35. 1000 ¥ fawsi 6 @@ (1 3R 1000

BIgR) 1 &7
fa) 12 (b} 13
{c) 14 {d 16
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36. IR wiwm
x2 -k%x +30kx-161x-64 =0
* TE w AN T R, A 3 e AR W
27
(@ 15 (b) 16
fc) 17 {d 18

37. frdl ¥R & gHS ) dma £10,000 21 AR
3 FR F 2 m 3R T gH 4 hwa A
e 91 &, @ T €250 ¥ e ww A
W R 1 U2 % gwS h qw oard 1 7
(@ 8 m (b) 10 m
¢ 12m (d) 16 m

38, @ 3 Wiy ¢ f& wiwm
ax? +bx+c=0
F A c: 1 F agoa A E?

@ b2 =alc+1)?

b) a2 =bic+1)?

{¢) b? =ajc-1)?

(d) ab? =(c+1)?

39. gy o areh frelt B #1  oed 6
AR px? -1 %1 3R By w1 §ava 84
Tl 2, A Ay & a7 37
(a) 517
(b) 53T
(c) 56 TR
(d) 59 T

40. A TRl F #9192 km F P W@ FA T F
W X FR T YR A2 ®
9 ol #1 3R e\ 91 d 16 km/hr &
HW ¥ 38 g R AN T TN W A
Toremn wma Y
(a} 3 W
fc) 5%

(b) 49
(d) 69
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31. If ¢ and B are the roots of the quadratic
equation x2 +ox+p =0, where B=0,
then what is the value of a -f?
fa) 4 fb) 3
fc) -1 {d) -3

32. A shopkeeper marks the price of
an article at ¥200. After allowing
a discount of 10%, he still gains 20%

on the cost price. What is the cost price
of the article?

(@ ®170 (b} ¥160
) ®150 (d €120

33. A person borrowed ¥9,000 at 7%,
¥ 12,000 at 8% and ¥ 15,000 at 9%
simple interest per annum. He had to

pay ¥50,700 at the end of n years.
What is the value of n?

(@) 3 b) 4
f 5 (d) 6

34. Consider the following statements :

1. The sum of the cubes of three
consecutive natural numbers is
divisible by 9.

2. Every even power of every odd
number (> 1) when divided by 8
gives 1 as remainder.

Which of the above statements is/are
correct?

(@) 1 only
(b) 2 only
{c) Both 1 and 2
(d) Neither 1 nor 2
35. What is the number of divisors of 1000
(excluding 1 and 1000)?
fa) 12 (b) 13
fc) 14 (d) 16

GHSA-T-MTK/45A

36. If the sum of the roots of the equation

x2 - k2x + 30kx - 161x - 64 = 0 is zero,
then what is the difference of the roots?

(@) 15 (b) 16
) 17 (d) 18

37. A piece of cloth costs £10,000. fa 2 m

longer piece of the same cloth is
purchased for the same amount,
it would cost ¥250 less per metre.
What is the original length of the piece
of cloth?

{a) 8 m () 10 m
fc) 12 m (d 16 m

38, What is the condition that the roots of

the equation ax? + bx +c=0 are in the
ratio ¢: 17

(@ b2 =afc+)?
b) a? =bic+1)?
c) b2 =alc-1?

(d) ab®=(c+1?

39, Two sides of a triangle forming a right

angle are 6x2 and (Qx2 - 1). If the area

of the triangle is 84 square units, then
what is the perimeter of the triangle?

fa) 51 units
fb) 53 units
{c) 56 units
(d) 59 units

40. A train X takes 2 hours less than a train

Y to cover a distance of 192 km between
two cities. Their average speeds differ
by 16 km/hr. How long does the faster
train take to cover the journey?

{a) 3 hours (b) 4 hours
{c) 5 hours {d) © hours

[P.T.0.
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41. TF I 3R D FuAl W faem fifw

T .
T 3x + 2y TTHF &7
FYA-1 : x3 = -29.8
FA-I1: y° = 3x
T AR FoFE & IR 1 Frakifas 3 A e
TF Wl 87

@) YH # IW P F o Fad wE-1 @
wafy B

(b) FF T IM A % folv Faat -1 @
i

@ TH F I W F o FE-1 @R
FA-1 21 firerR wain &

d A F I WA F fau sw-1 @l
FA-11 T vty 78 §

42, F TR 3N A wA W A ;
- .
T T ax? +bx +c = 0 & fovla fug
1 AT e 87
wi- : fem D> 0
Y-l : c/fa>0

v 3w & o § frefafas 8 4 fe-w

T WE &7

fa) YA F IR P & U Faw wE-1 @
T #

{(b) YW & I H F oy Fma ww-11 @
w8

) YA ® W W F fm Fw-1 AR
FoA-11 21 fiream waia §

{d 9 # W AW F ffm F-1 Ik
-1 I i T &
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43. & 7 3R Q) TR w faar fifd

T .

M a?+b%+c2-ab-be-ca (a, b, ¢

T Ao weard €) wae s &7
F-l:a>b>c

-l ia+b+c=0

T o FoAt % W frafafa 4 @ #R-

s w7

f@ YA H IW RN F fom T dwE-
i &

(b) ¥R F IW W & U Faa FF-1I
it

) ¥R ® IW A F ¥ ww-1 el
HYA-11 TH1 e &

{d ¥R F IR A F e 3@ FE- e
1 & FoA-1] i &

44, TF TR 3R 9 FyA W fEr fifag

T .

6 6 4
Y my XY
x4+ yt x2 4y

a3 ¥7

4
Zl[Jvc;ty;e()ll?!

-l: x>y

FE-IL: x? + 2 > 2xy

T 3R wEl & R fafafea § @ SR

T 1 b

@ THA & T [+ U Fad w9
e &

(b) ¥ F IW W F U Faa Fu-11
andfire &

¢ V@ W IW { F fw w@-] ik
FYR-11 a1 anfera &

(d) ¥R F I A F g 3 @ FoE-1 v
1 FoE-11 i R
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41. Consider a question and two statements :

Question :

Is 3x + 2y positive?
Statement-I : x° =-29-8
Statement-II : y3 = 3x

Which one of the following is correct
in respect of the question and the
statements?

{a) Statement-] alone is sufficient to
answer the question

(b} Statement-II alone is sufficient to
answer the question

{c) Both Statement-l and Statement-II
are together sufficient to answer
the question

Both Statement-] and Statement-II
are not sufficient to answer the
question

(d)

42, Consider a question and two statements :

Question :
Does the equation ax? +bx+c=0
have real roots of opposite sign?

Statement-l ;: The discriminant D> 0
Statement-Il : c/a>0

Which one of the following is correct
in respect of the question and the
statements?

{a) Statement-I alone is sufficient to
answer the question

{b) Statement-Il alone is sufficient to
answer the question

{c/ Both Statement-] and Statement-II
are together sufficient to answer
the question

Both Statement-1 and Statement-11
are not sufficient to answer the
question

(d)

GHSA-T-MTK/454A
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43,

44,

Consider a question and two statements :
Question :
Isa?+b? +c?2 -ab-bc-ca la b, c
are distinct real numbers) always
positive?
Statement-I : a>b>c¢
Statement-Il . a+b+c=0

Which one of the following is correct
in respect of the question and the
statements?

{a} Statement-l alone is required to
answer the question
(b) Statement-II alone is required to

answer the question

{c) Both Statement-1 and Statement-I1
are required to answer the question

{d} Neither Statement-I nor State-
ment-1l is required to answer the
question

Consider a question and two statements :

Question ;

xﬁ + yﬁ
Is ry always greater than
X' +y
4 .4
+
x2 yz-[x #y=+0)?
x“+y

Statement-I : x> y
Statement-II : x2 + y2 > 2xy

Which one of the following is correct
in respect of the question and the
statements?

fa} Statement-1 alone is required to
answer the question
(b}

Statement-Il alone is required to
answer the question

fc) Both Statement-I and Statement-II
are required to answer the question

Neither Statement-I nor State-
ment-II is required te answer the
question

(d)

[ P.T.O.
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45, fFm femm w4 3 Hj’ﬁ F zﬂ"’l, Ko 48, sin® 6+cos? 6-2sin20cos20 g4

el & U % SUeT BN 87 ks 4
(@) 3 (@ 0O
(b) T
(b) 1
fc) A
2
(d) 3Fd@: I ©
(d) F A H A T
46, IR
_ 1-cosB +sinb
1+sin@ 49, IR cosB +secb-2=0, E| 0£9<~g, 4
;o _
a%ﬂl%ﬂ%m%? cos® § +sec? 8 -2 F 7 F1 ¥
@ - o =
X
b} -1
(b) x
fc) 0
fc) 1+x
(d) 2
(d) x-1

50. R y=cos? x +sec? x, @l 0£x<g, a
47. AR cosix+ =0 3N sin(x- =-2!, el

Trfefiga % 4 =F-31 @ 8d 27
: Z1, 1 cotfex — i 1 AW w1 87
xye{ﬂ, 2] cot@x -y t fa 0<y<0-5
fa) O

(b} 0-5<y<l

1

(b} 2

fc) 1<y<2
c) 1
{d) 2 d) yz2

GHSA-T-MTK/45A 12
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45. How many quadratic equations have the 48, What is the minimum value of
sum of their roots equal to the product sin? 8 +cos? 8 -2sin 0cos? 0?
of their roots?

(a} Zero @) 0

{b) One (b} 1
Tw

() Two © 2

{d) Infinitely many
{d) Minimum value does not exist

46. If
_1-cosB+sin@ n
X T sin® 49, If cosB+secB-2=0, where 05945,
then what is the value of
i - 4 4
then what is sinf +cosf-1 equal to? cos” B +sec” 8-27
cosb
| (a) -2
(a) >
{b) -1
fe 1+x d 2
{d x-1
50, If y= cos? x +sec? x, where 0<x< g,
. 1
47. If cos(x+y)=0and sin(x-y) = > where then which one of the following is
n correct?
X, ye[o, 5] then what is the value of
cot(2x - y)? fa) 0<y<0-5
fa} 0
(b) 0-5<sy<l
1
()
(b) 2
fc) 1<y<2
(c) 1
{d 2 (d} y=z2
GHSA-T-MTK/45A 13 [ P.T.O.
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51. R A, B, C3 ¥ § 3R 55. (sec?q +tanc -tanP —tan?o)?
sin(B+C-A)=cos(C+A-B)

+({tana - tanpP)? - sec? o -sec? B
= tan{A+B-C) =1

A (A + B+ C) frh st &7 T R R7

@) 90° @ -1

(b) 120°

(¢ 135° (b) 0

(d) 150° ic 1
82, 7R A, B, C, D i TR IF & = g, (@ 2

?hsin[’"‘;c)+sin(3; D)aﬂ TR w87

56. af tan® +secb =3, @ 3tanb +9secd F

(a 2 A 87

(b} 1

¢ O fa) 15

(@ -1 (b) 17
§3. 2@l W § % w1 agIE @ & wig {c) 19

wm Rl ga @@ awy,

T8 A 97 10 km Q ¥ 3N ITRA F0 0 T (@) 21

T ) AR TR T A 8 km A I9E W

R, A Feffea 3 4 F9-11 & 6@ 27 57. P w frm S

fa} 0<B<30 5 5

() 30°<B <45 1. Jsec 0 +cosec“d = tan® +cotb,

() 45°<8<60° M 0<8 < 90°

{d) 60°<B <90 2. Jtan29+cot28+4=secB+cosecG,

W&l 0< 8 <90

54, R TR g B x e 3 fl T & v

i 1 3 B 60° T S 21 3 fag @ I | B FR-T/A aeEw 2/

y T @ IR W, @ 30° A @ R

Pt §4d & @ B9-1 0 T 27 fa) 1

fa) x=y (b) FEA 2

(b) 2x =3y

0 2= 3y ¢ 1323

(d) 2y=3x (@ A1 dAd2
GHSA-T-MTK/45A 14
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51, If A, B, C are acute angles and

sin([B+C-A)=cos(C+A-B)
=tan(A+B-C)=1

then what is (A + B+ C) equal to?

faj 90°

(b} 120°

g 135°

{d) 150°

§2. If A, B, C, D are the angles of a cyclic

quadrilateral, then what is the value of
the following?

. (A+C] ‘ [B+D]
sin +sin >

fa) 2
(b) 1
fc) O
(d) -1

53. An aeroplane is observed to be

approaching the airport. It is at
a distance of 10 km from the point of
observation on the ground and makes
an angle of elevation 8. If the aeroplane
is at a height of 8 km above the ground,
then which one of the following is
correct?

fa) 0<6<30C°

() 30°<B <45

(c) 45°<b <60

(d) 60°<8 <90

54. The angle of elevation of the top of

a tower of height x metre from a point
on the ground is found to be 60°. By
going y metre away from that point,
it becomes 30°. Which one of the
following relations is correct?

fa) x=y

b} 2x =3y

e 2x=+3y

(d) 2y=+v3x

GHSA-T-MTK/45A

What is
(sec? o + tano - tanp - tan? o)?

2

+(tana - tanP)? - sec? o - sec? P

equal to?
a -1
(b} O

(c) 1
(d) 2

56. If tan® 4 sec = 3, then what is the value

of 3tan® + 9sect?
(@ 15
(b} 17
fcg 19

(@ 21

57. Consider the following :

1. Jsecz B +cosec?8 = tan# +cot®,
where 0 <8 <90

2. \Itarn2 B+cot20+4 =sech +cosect,
where 0 <0 < 90°

Which of the above is/are an identity/
identities?

{a} 1 only

(b} 2 only

(¢/ Both 1 and 2

(d) Neither 1 nor 2

[P.T.0.
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58. T F 99 6 a1 F, A FR W2 W
0 A WA R, WEE w R, W
0 <457

fa) sin20
(b} cos26
{c) 2sinb

{d] 2cos®

59, 4R} tan?6+ 3sec6-9=0, & 0<H<90",
M 12cot? 6 + 3cosecd F1 U F1 &7

() (V3+1)>2
(b) W3+2)?
(c) @43+1?
(d) (3/3+1?

60. IRk

cosecO + 1 cosecl -1

cosf . cosB

& 0<6 <90, A sin® 6 +cos? 8 F IR
&7

(@) 2
(b) 1

(c)

b

p—

@ 3

GHSA-T-MTK/45A

61. Fafafan $u=i ot fa=m $ifse

1. 3R & 39 f A fad AB ¥k AC
TR 2, A 99 F F3F, N CAB ¥
v fpwes W R g

2, AR @ ¥ g el T g wE
A, B, C 3 D w y=afE B &, o
AC= BD,

I A O @ P/ T /R
(@) FF4 1

(b) W 2

fc) 1 3R 23F

d F@1MIA2

62. 25 cm B & fet v i & far i 7=
48 cm 31 9 F %= 8 a1 | @i T T
#) g #7027

fa) S cm
fb) 55 cm
f) 65 cm
fd) 7 cm

63. xaﬁﬁﬁmﬂqﬂmyﬁmﬁ‘i?ﬁﬁ%
78 dana & W ¥ fefofE @ w
foram difer

1. 2x>3y
9. HA H A, M & HEEA A 92

I FoHl A A AW/ G R/
fa) & 1

{b) FEd 2

(c) 1323

d) 3@ 1ARAHR2

https://www.pyqonline.com



58. What is the length of the chord of a unit 61. Consider the following statements :

circle which subtends an angle 29 at 1. If two chords AB and AC of a circle
the centre, where 8 <45°? are equal, then the centre of the
{a) sin28 circle lies on the angle bisector of
angle CAB.
(b) cos28 2. If two concentric circles are
intersected by a line at A, B C
¢} 2sinb and D respectively, then AC = BD.
Which of the above statements is/are
(d) 2cosb correct?
{a} 1 only
9. If tan?6 + 3sec8 - 9 = 0, where 0<6<90",
(b} 2 only

then what is the wvalue of
12cot? 6 + 3cosech ? fc} Both 1 and 2
(d) Neither 1 nor 2

(@) (V3+1)?

62. A circle of radius 25 cm has a chord of
length 48 cm. What is the length of the
perpendicular drawn from the centre of
the circle to the chord?

b) ¥3+2)°2

) V3+12

fa) 5 cm
(d (3V3+1)? (b) 55 cm
fe) 65 cm
60. If (@) 7 cm
cosf cosb 2 63. The surface area of a cube of length x
cosecd+1 cosecB-1 is equal to the surface area of a sphere
of radius y Consider the following
where 0<0<9(°, then what is the statements :
value of sin®6+cos?6? 1. 2x>3y
2. The volume of the cube is greater
(@ 2 than the volume of the sphere.
Which of the above statements is/are
b 1 correct?
© 1 {a) 1 only
(b} 2 only

{c¢} Both 1 and 2
{d) Neither 1 nor 2

(d)

GHSA-T-MTK/45A 17 [P.T.O.
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64. Tl oragdis g 6 fem ol dd 3.7 %
g § §) AR g F 9™ 528 cm? ¢,

A viF B S T X (n=?§snﬁq)
fa) 35 em
fc) 105 cm

) 70 cm
({d 140 cm
65. Tt IR T F1 ARF AW 14 em B

@ A B 154 oliex R e € = A grh
T W@ 2 km/hr ¥ o f 1Ry wm R?

(n=2—72?ﬁf3ﬂtl)
fa) 05 (b} 06
(c) 08 @ 1

66. 6 cm WM F ¥ & T Mo # a3
Hi:fﬁﬂ‘ﬂﬁiﬁmﬁmmglﬂ‘ﬂ?ﬁ%
W 2 cm, 4 cm 3R xcm §) Feffa §
} BH-|1 0 w27
fal 5cm<xcm< 52 cm
(b} 52 cm <xcm< 54 cm
fc/ S4em<xem< 56 cm

(d) 56 cm <xcm< 58 cm

67. 10 39T ot 3 8 THE e F uF Ha
H TAF x T FRG F QD AR &
y T a2 sl § st R s 2
Frfefiaa wudl ® o= hifvm

1.y T x ¥ e dm|

2.y, 15 911 H1E & " R
I FuAl A | B/ Tl R/ET
(a) ¥ 1

(b) % 2

¢ 1323

d A1 2

GHSA-T-MTK/45A

68. WIH 3N % n HIHW TGN FE0 H AR
T FHR TR 498 Tl ) IR 3/ @ A
I8 afFR 9 F ol R T m R, @

oA TR I F o A FEE 7Y
m m
m V2m

fc) E (d) W

69. x @ 3R y el A wF ArRaER 9w R
I W I B A f wE A A @ A
AeH F AT p 2, IR IR e H T D
DA I F AEE g B, W AR
q:Qp,?hﬁﬂﬁ‘lf@ﬁﬁﬁm-m@Hﬁ%?

@ x=y
(b) 2x =3y
{c) x=2y
(d) 3x=4y

70. 18cm =0 F oW M @ W @A
IR W 5 3= 7 A wel v R T
09 cm e & uig % it Tt gaT W &)

fored Mol 5o game o 1 97 1 ¥R 3 em
g Se?

{a) 100
(b) 500
{c) 1000

{d) 1500

https://www.pygonline.com



64. The radius and height of a right circular

cone are in the ratio 3: 7. If the volume
of the cone is 528 cms, then what is

the height of the cone? (Take n = g;]

fa) 3:5 cm () 70 cm
fcg 105 cm fd) 140 cm

65. A cylindrical pipe has inner diameter of

14 ¢m, Water flows through it at a rate
of 154 litres per minute. What is the

speed of water in km/hr? (Take n = 2—?2}

(@ 05 (b) 06
) 08 d 1

66. A spherical ball of lead 6 cm in diameter

is melted and recast into three spherical
balls. The diameters of the balls are
2 cm, 4 cm and x cm, Which one of the
following is correct?

@ Scm<xcm< 52 cm
(b) 52 cm <x cm< 54 cm
fc) 54 cm<xcm< 56 cm

{dl 56 cm <x cm< 58 em

67. A rectangle of length 10 units and

breadth 8 units is split into two squares
each of area x square units and two
rectangles each of area y square units.
Consider the following statements :

1. yis always greater than x,
2. ycan be 15 square units.

Which of the above statements is/are
correct?

(a) 1 only

{b) 2 only

fc) Both 1 and 2
{d} Neither 1 nor 2

GHSA-T-MTK/45A

68. A square sheet is formed by joining n

identical square sheets of same size.
If the length of the diagonal of the bigger
square sheet so formed is m, then
what is the side length of a smaller
square sheet?

m m
Y om S
m V2m
9 @

69. A rectangular sheet is of length x and

breadth y If p is the volume of the
cylinder formed by rolling the sheet
along its breadth and g is the volume
of the cylinder formed by rolling the
sheet along its length, and q=2p, then
which one of the following is correct?

a x=y
(b} 2x =3y
fcg x=2y

(d} 3x=4y

70. A tall cylindrical container with circular

base of radius 18 cm contains a good
quantity of water. Metal balls each of
radius 0-9 ¢cm are immersed in it, How
many balls are required to raise the
water level by 3 cm?

(@ 100
(b} 500
{c) 1000

{d) 1500

[P.T.0.
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71. Y% 943 cm? &%a N 9 AHATg PR

el F AgR TF GHATg AYEFER T 7
T &1 72 P sret it $9 70 87

(@ 93 cm
(b} 18 cm
¢/ 18J3 cm
{d) 27 cm

72. T GHEQT R %1 G4 21 36 @d F 9ime

100 m 3R & fool ) o 40 m R @
@ A 9R T et § ot o ) w R
%1 8% e 37

@ 150 91 dix
(b) 225 T i
fe) 300 T AR
{d) 450 T fiR

73. ABCD & wiera (3fifam) %, fed aB

MR & DC | WA ofif E sl F s
AD 3R BC w mA-forg #1 3R EF = 10cm
3 AB-DC=4cm, @ ABxDC ¥ WH
R

fa) 84 ¥ cm

(b) 96 1 cm

) 100 9 cm

{d) 108 Tl cm

74. ABCD T ®Hict <™ &, e AB=15cm

dR AD=8cm. IR AB ¥R AD ¥ ¥ 8
T A, A T em | W g
eI

(@) 60sin®

(b) 120sin®

{c) 60cosb

{d) 120cos8é

GHSA-T-MTK/45A

20

75. A f&dfl wifgag wwwm fnm = oo

42++2)cm B, @ T cm ¥ WH HFA

27
(a) 8
(b) 12
) 16
{d) 24

76. f¥eft & =1 fowl 1242 em ? o el worang

fiye 1 &% 6443 @i om ) Prffan
HHl A 8 FR-a/8 vl 387

1. ¥ R fne %1 ofomg w9m R

2. @ % &E%d F 9% T, T % gawa
# 33 T & W R

A faw e g2 = W R wd IW g
(@) ¥4 1

(b) FEE 2

fc) 1 ¥R 22

[ Ad1AdH2

77. Frafafaa s © R fife .

1. fl Bom A R D el @ am
el ye w dih T e % A A
¥4 {1

2. T fom =1 ofom A5 wieEe &
A Y st 4

IS FUA § § B/ wd R/E
(@) 99 1

(b) Fad 2

g 1323

d Ad13RIA2
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71. An equilateral triangular sheet is formed

by joining 9 equilateral triangular
sheets each of area 93 cm?2. What is

the height of the bigger triangular
sheet?

@) 93 cm
(b} 18 cm
() 18J3 cm
{d) 27 cm

72. A farmland is in the shape of a rhombus,

The perimeter of the land is 100 m
and the length of one of the diagonals
is 40 m. The land is divided into four
equal parts. What is the area of each
part?

fa) 130 square metre
{b) 225 square metre
{c) 300 square metre
(d} 430 square metre

73. ABCD is a trapezium in which AB is

parallel to DC. Let E and F be the
midpoints on AD and BC respectively.
If EF =10 cm and AB- DC =4 cm, then
what is the value of ABx DC?

{a) 84 square cm
{b) 96 square cm
fc) 100 square cm

{d) 108 square cm

74. ABCDis a parallelogram with AB=15cm

and AD =8 cm. If 6 is the acute angle
between AB and AD, then what is the
area of the parallelogram in square cm?

{a) 60 sinB
{b) 120sin8
{c) ©60cosb
{d] 120 cos8

GHSA-T-MTK/45A

75.

If the perimeter of an isosceles right
triangle is 4(2++2) cm, then what is
its area in square cm?

(a) 8
(b) 12
fc) 16
(d) 24

76. The diagonal of a square is 12v2 cm

and the area of an equilateral triangle
is 6443 square cm. Which of the
following' statements is/are correct?

1. The square and the triangle have
the same perimeter,

2. Four times the area of the square
is equal to 3v3 times the area of
the triangle.

Select the correct answer using the
code given below,

fa) 1 only

{b) 2 only

{c¢ Both 1 and 2

{d) Neither 1 nor 2

77. Consider the following statements :

1. The sum of any two sides of a
triangle is less than twice the
median drawn to the third side.

2. The perimeter of a triangle is
greater than the sum of the three
medians.

Which of the above statements is/are
correct?

fa) 1 only

(b) 2 enly
f¢; Both 1 and 2
f{d) Neither 1 nor 2

[P.T.0.
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78. WA difiY D, E ¥R F, Bys ABC #i y=nsdi
¥ BC, CA ¥R AB & vw-fag ¥ P
DEF fr=fafaa § & frm fyw/fm et &
watTay 37

1. AEF
2. FBD
3. EDC

Fr e m g 1 W@ R ad Iw g
(@) ¥ 1

(b) Fad 2 3 3

(c) +79 3

(d 1,23R3

79. Tl B ABC #, AB= AC 3R BC W%
AR DAF W OUFR F LACD=x, @
£ BAC 5% <t 37

fa) 2x-90°
(b) 2x-180°

{c) 180°-2x

X
@ 3

80. ABC W& fiy@ 3, 1 B R ww@m #7ra & 3w
AC=2BC %1 IR £A=x, @ «C f&as

R 87

x
{a) 5

(b) 2x
o) 2x
(d V3 x

GHSA-T-MTK/45A

22

81, It Py ABC #, AB-=16cm,
AC=12cm 3R AD fowem ® 24 #1) 3R
BD =4 cm, @ CD forme wtmn 37
faj 2 cm (b) 2'5 cm
fcg 3 cm (d) 35cm

82. x ¥ TN B TR B, y B % fd
0 % ia @ T ) et | @
-9 T 8 87
@ 2y=x
fc) v’gy=2x

(b 2y=3x
(d J3y=x

83. ABC @ fiyw t, 1 B W ww&m wm R
e oifie D wa-fg ¥ AC W AR
BD=6-5cm, @t AB? + BC? f&ws s
¥
(@) 144 @ cm
(b) 169 T cm
) 196 T cm
@ 2259 cm

84. 1m 398 MM 2m =@ N qf W §
IR & F F T TR v W@ ORI 9
e lem P Ma RAB AT
TR THEA B T T amm fhR e @
et § et
(a) 280 T2
{c) 230 %R

(b) 260 T
(d) 210 W

85. Tl eneifier T yewers 6 T, el
R S 27: 8: 1% ouE # &1 RIS
AR YCHEH Bl el I8 TA: T 9 Il
W ) 3R TR W YEHEE B Y
Wp%@?qqﬂ‘iﬂmq%,?ﬁp/q
o TR 37

247 251
(@) 108 (b) 108
503 505
U0 ) 222
fe) 216 @) 216
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78. Let D, E and F be the midpoints of the

sides BC, CA and AB respectively of a
triangle ABC. Triangle DEF is congruent
to which of the following triangles?

1. AEF
2. FBD
3. EDC

Select the correct answer using the
code given below.

fa) 1 only

{b) 2 and 3 only
{¢) 3 only

(d) 1,2and 3

79. In a triangle ABC, AB= AC and BC is

produced to D such that ZACD=x,
then what is ZBAC equal to?

fa) 2x-90°
(b) 2x-18C°

{c) 180°-2x

x
(d) 5

80, ABC is a triangle right angled at B with

AC=2BC. If ZA=x, then what is ZC
equal to? https://www.pygonline.com

X
(a) E

(b} 2x
fe) V2x
{d J3x

GHSA-T-MTK/45A

81.

In a triangle ABC, AB=16cm,
AC=12 cm and AD is the bisector
of ZA. If BD =4 em, then what is CD

equal to?
fa) 2 cm ) 25cm

fco 3 cm {d) 35 cm

82. An equilateral triangle of side x is

85. The

inscribed in a circle of radius y. Which
one of the following is correct?

(b) 2y=+3x
(d} Y3y=x

fa) 2y=x
(¢ J3y=2x

83. ABCis a triangle right angled at B. Let D

be the midpoint on AC. If BD = 6.5 cm,
then what is AB? + BC? equal to?

{a) 144 square cm
{b) 169 square cm
fc) 196 square cm

{d} 225 square cm

84. Water is trickling out of a completely

filled cylindrical tank of height 1 m and
diameter 2 m. Every second a spherical
droplet of 1 cm radius trickles down
from the bottom of the tank. The tank
will be emptied in approximately

(a) 280 hours (b} 260 hours

fe) 230 hours (d) 210 hours
length, breadth and height of
a cuboid are in the ratio 27:8: 1 The
cuboid is melted and recast into a cube,
If p is the surface area of the cuboid
and q is the surface area of the cube,
then what is p/q equal to?

047 251
! B 220
@ Tos b o8
503 505
U dy 20
© 6 @ 5

[P.T.O.
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86. Tt wwwm B ABCH, BD @/ § #i AC
W IR AC=9 cm 3 AD=4 cm, @
AB+ BC @ ek s 37
{@@ 12 cm
{p) 122 cm
f¢) 124 cm
{d} 126 cm

87. f&ft B ABC #, AD Ry ¥ «BAC
#| I AB=12cm, BD=10cm 3K
DC=5cm, @ fys % ofom =0 &7
fa} 30 cm
(b} 31 cm
(c) 33 cm
{d) 35 cm

88. 4 cm, 75 cm ¥R 85 cm Y T
@ % e @i e ga i e w27
fa) 1:5cm
(b) 2 cm
¢/ 2:5cm
{d 3 cm

89. T & 5 cm TH TEAT R 2 ¥RW FIFA F
Sl W 9@ g I S 127

(@) 100 1 HX
(b) 1000 A HX
(c) 4000 ¥ HA
(d) 10000 WA X

90. 35cm i § uxfed 1 = @ 11 km
TR H n o @ 8 on F A R8T

(n=%ﬁﬂﬁm)

fa) 500
{b) 1000
fc) 2500
(d) 5000

GHSA-T-MTK/45A

fdw : am am 9 9 (02) TE & fu, Fefafaa
mhﬁmﬁaﬂﬁhq:

= fi grof 4 Bl v f dgEr sEEen v
AR

g AR wftrgraar
30 =4 ¥ = 14-00
30-34-99 29-75
35-39-99 2625
40-44-99 0
45-49-99 18:50
50 T4 3R gE@ aifts 11-50

40 94 §1 31y & 9 % =aftral N dEw 10-5 AwE R

91, TR I Fa WG (Ar@ H) T 7
(@) 21
(b) 18
(e} 15

(d) 12

92, 3R 30 3 ¥ = A 3 7y T § wWE@
F A7 JhEA W IAE 1:2 R, @ W g
e § Fermedl f wen (Tre 7) ;80

(a) 04
(b 07
fc) 085

(d) 105
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86. In a right triangle ABC, BD is Direction : Consider the following data for
perpendicular on hypotenuse AC If the two (02) items that follow :
AC=9 c¢cm and AD =4 cm, then what

The table below gives th -wi lati
is AB+ BC approximately equal to? ¢ v e © age-wise population

percentage of a city :

fa) 12 cm
(b) 122 cm
Age group Percentage

fe) 124 em

(d) 12:6 cm Below 30 years 14-00
87. In a triangle ABC, AD is the bisector of 30-34-99 2975

ZBAC. If AB=12 cm, BD = 10 e and 35-39-99 2625

DC=5 cm, then what is the perimeter

of the triangle? 40-4499 0

faj 30 cm 45-49-99 1850

b) 31

(b) 31 cm 50 years and above 11-:50

fe) 33 cm

fd) 35 cm

The number of persons below the age of
88. What is the radius of the circle inscribed 40 years is 10-5 lakhs. '

in a triangle whose sides are 4 cm,

7'5 cm and 85 cm?

@ 15 91. What is the total population of the city
a ‘2 cm

b 2 (in lakhs)?
cm

fe} 25 cm fa) 21
{d 3 cm ) 18

89. In a shower, 5 cm of rain falls. What
is the volume of water that falls on fe) 15
2 hectare area of land?

(@ 100 cubic metre d) 12

(b) 1000 cubic metre

fc) 4000 cubic metre 92. If the ratio of taxpayers to other persons
(d) 10000 cubic metre in the same age group below 30 years

is 1:2, then what is the number of

90. A bicycle wheel of radius 35 cm makes taxpayers (in lakhs) in that age group?

n revolutions in moving 11 km. What is

the value of n? (Take n = ?} fa) 04
{aj 500 (b) 07
1000
() fe} 0-85
(c) 2500
(d) 5000 {d) 105
GHSA-T-MTK/45A 25 [ P.T.O.
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Fdyr : am oA 9 2 (02) TeE # for, frafafea
ﬂh@ﬂﬁﬂﬂiﬁm:

frdl = # oad 2011 § 2017 % fou =3

(vra wqal #) f2 fow T srgEn R
ad =g
2011 13:8
2012 15-4
2013 10-4
2014 13-1
2015 15-8
2016 17:2
2017 19-4

93. frd af # =@ 4 9fy freft e frem @ $
AN A 15% § 3 7617

fa) 2 (b} 3
(c) 4 d S

o4, frm adf § =g # vl 3fg &% frod ad

qorn § stftmam g
(a) 2012 (b) 2014
(o 2015 (d) 2017

i : ) o1 91 2 (02) WA & fag, Frefafe =
féﬁﬂ(ﬁﬁm:

gara A o fafim it 4, B, ¢, D 3f E & fiefim
T fflym Fam: 40%, 18%, 9%, 25% 3R 8%
2| v%a w9 fafvm #3004 @ B

95. A 3r ¢ % fiemR fafem 6w oW, B, D
v E 9 e fafium A oft fi g
i freft = 37

(a) ¥3-004 @@
(b) €4005 W@
{c) ¥6-008 @@
(d) ¥8010 W@
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96. IR T 9 H dH A1 9GRS, T A W
foraeft it ) 3fg i Swh?
(a) ¥360-48 M@
(b} ¥300-36 7@
(c) ¥240-32 ¥@
(d) ¥180-40 W@

fdr : om o T Ew (04) ye F fore, el
T famr Hifsre

freht when A, fal e, R olv Pm w1 whem
wifte #, 500 spadfi wif@ e 30 sadi FEE

3ieh # ol gu; 75 Faa R A gl G 50
Fam o # g gy 15 SN iR R @A A

ygd gg; 17 f& o aftm 2 A el g
17 7@ o sk A F ol gy 5wl IR

et 3 sl gu
o7. F-4-7m 2 e & sl R At s

&1 = o £7
(@) 54% (b} 64%
) 68% (d) 7-8%

98, ¥ G fawg § argdel R A enfif

7 yfereraa 37
fa) 28% fb) 31%
(0 358% (d) 388%

99, 9-¥-%9 T fasa § appril A9 T snafea

# F41 yiawdaa &7
{a) 31% (b} 354%
(c) 388% (d 41-5%

100. fra sl @) a1 ofv arfis fawr & 3efi gu?
(a) 461 (b) 405
fc) 345 (d) 306
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Direction : Consider the following data for
the two (02) items that fellow :
The expenditure (in lakhs of rupees] of a

company for the years 2011 to 2017 is as
under :

Year Expenditure
2011 13-8
2012 15-4
2013 10:4
2014 13-1
2015 158
2016 17-2
2017 19-4

93. How many times the increase in
expenditure in a year exceeded by more
than 15% as compared to previous

year?
(@) 2 (b) 3
fc) 4 (d) S

94. In which year, the percentage increase
in expenditure is maximum as
compared to its previous year?

(@ 2012 (b} 2014
{¢) 2015 {d) 2017

Direction : Consider the following for the
two {02) items that follow :

The budget allocations represented in a pie
diagram under five different heads A, B C,
D and E are respectively 40%, 18%, 9%,
25% and 8%. The total budget allocation is
¥ 3004 lakhs.

95. How much less amount is allocated to
A and C together as compared to B, D
and E together?

(@) ®3:004 lakhs
(b) ®4005 lakhs
(c) ¥6008 lakhs
{d) ¥8010 lakhs

GHSA-T-MTK/45A

96. How much amount will be increased on
A if the total budget is increased by
three times?

fa) ¥360-48 lakhs
(b) ¥300-36 lakhs
{c) ¥240-32 lakhs
(d] ¥180-40 lakhs

Direction : Consider the following for the
four (04) items that follow :

500 candidates appeared in an examination
comprising tests in English, Hindi and
Mathematics. 30 candidates failed in English
only; 75 failed in Hindi only; 50 failed in
Mathematics only; 15 failed in both English
and Hindi; 17 failed in both Hindi and
Mathematics; 17 failed in both Mathematics
and English; 5 failed in all three tests.

97. What is the percentage of candidates
who failed in at least two subjects?
fa) 54% (b} 6-4%

(c) 68% (d) 7-8%

98. What is the percentage of candidates who
failed in only one subject?
(@ 28% b) 31%

(¢) 358% {d) 388%

99. What is the percentage of candidates
who failed in at least one subject?

(@ 31% (b) 354%

(c) 388% (d] 415%

100. How many candidates passed in two or
more subjects?

{aj 461
{c) 345

(b) 405
(d) 306

| P.T..

hitps://www.pygonline.com



DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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1.

4.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number

and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

You have to enter vour Roll Number on the Test Booklet in
the Box provided alongside. DO NOT write anything else on
the Test Booklet.

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and
English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each
item.

You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination
has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers @

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question,
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